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1. Two large metal plates are 10.0 cm apart and have a uniform electric field
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between them as shown in the figure. An electron is reieased from rest from the ¥ M
negative plate at the same time a proton is released from rest from the positive = +
plate. Find the ratio of the distance covered by the electron to that of proton when : J.e_, &
they pass each other (de/dp). . P
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2. (a) At which point can the electric field due to the two charges shown in the figure be zero? Why?
The distance between any two ticks is 10 cm.
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(b) Calculate the magnitude and direction of the electric field at point A.
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1 Tor thce 2 oveneen ~ - I
1.1 ine figure, 1 hangs from an insulating s
S

a a al electric
N/C directed upward as shown. The tension in the string is 0.005 N. What is the magnitude and sign
of the charge on the ball?
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2. Consider an electric dipole with charge q of magnitude 16 x 10-'8 C, separated by a distance of 1.0 x
107 m. The dipole is placed in an electric field of strength 2.4 x 10° N/C. Calculate the required

work to rotate the dipole from its stable equilibrium position to the unstable equilibrium position.
Who does the work in this case? Why?
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1. The figure shows a charged ball of mass m = 1.0 g suspended by a light string in the presence of a

uniform electric field of magnitude 3.0 x 10° N/C. In this field. the ball is in equilibrium at 6 = 37°.
What is the value and sign of the charge g?
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2. Consider an clectric dipole with charge q of magnitude 16 x 10-" C, separated by a distance of
1.0 x 10 m. The dipole is placed in an electric field of strength 2.4 x 10° N/C. Calculate the
magnitude of the torque exerted on the dipole when the dipole moment makes and angle of 60"
with the direction of the field.
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